## Kansas Corporation Commission Oil & Gas Conservation Division



#### **WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE**

OPERATOR: License # 31980	API No. 15 - 007-23469 -000
Name: Lotus Operating Co. LLC	
400 C. Marin. Oto 420	SE NW NE SW cas 36 Tim 34 S. P. 12 Sept 7 Wast
Address 1:	970 Feet from North / South Line of Section
Address 2:	1000
•	
Contact Person: Tim Hellman  Phone: (316 ) 262-1077	
CONTRACTOR: License # 5929	
	0.00
Name: Duke Drilling Co. Inc	Stranathan
Wellsite Geologist: Tim Hellman	
Purchaser: High Sierra	Elevation: Ground: 1423 Kelly Bushing: 1431
Designate Type of Completion:	
New Well Re-Entry Workover	Total Depth: 4975 Plug Back Total Depth: 4925
Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: 277 w/ 220sx Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? Yes Vo
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set:Feet
Dry Other (Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/sx.cntt. /-
Operator:	
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content: 0 ppm Fluid volume: 0 bbls
Deepening Re-perf Conv. to Enhr Conv. to S	Dewatering method used: None - no water in the pits
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Docket No.:	·
Dual Completion Docket No.:	
Other (SWD or Enhr.?) Docket No.:	
12/15/09 12/21/2009 1/18/2010	QuarterSecTwpS. R East West
Spud Date or Recompletion Date  Date Reached TD  Completion Date or Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workon of side two of this form will be held confidential for a period of 12 month	ed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information has if requested in writing and submitted with the form (see rule 82-3-107 for confidengist well report shall be attached with this form. ALL CEMENTING TICKETS MUST -111 form with all temporarily abandoned wells.
are complete and correct to the best of my knowledge.	gulate the oil and gas industry have been fully complied with and the statements herein  KCC Office Use ONLY
Signature:	ACC Office Ose ONLY
Title: Managing Member Date: 5/10/2010	Letter of Confidentiality Received
Subscribed and sworn to before me this 10 day of 10	, If Denied, Yes (X) Date: 5-(-10
20 10	Wireline Log Received
The site of	Geologist Report Received
Notary Public:	UIC Distribution
Date Commission Expires:	RECEIVED KANSAS CORPORATION COMMISSION

JUN 0 1 2010

Operator Name: Lotu	s Operating Co. I	LC	Lease N	lame: C R Wetz		_ Well #: _3		
sec. 36 Twp. 34			County:	Barber				
me tool open and clo	sed, flowing and shues if gas to surface to	nd base of formations put-in pressures, whethe est, along with final char report.	r shut-in press	ure reached static lev	el, hydrostatic pres	sures, bottom	hole tempe	erature, fluid
Orill Stem Tests Taken		Yes No		✓ Log Forma	tion (Top), Depth a	nd Datum	[ ] s	Sample
Samples Sent to Geol		☑ Yes ☐ No		Name Heebner		Top 3824	_	Datum 2393
Cores Taken			KC		4354		2923	
lectric Log Run		✓ Yes No		вкс		4591	-3	3160
(Submit Copy)				Mississippi		4784	-3	353
ist All E. Logs Run:				LTD		4972	-3	3541
Dual Inductio	n, Neutron De	ensity, Micro						
		CASI	NG RECORD	✓ New Used			<del></del>	
<u>_</u>		T		rface, intermediate, prod				
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs. /		Type of Cement	# Sacks Used		and Percent dditives
Surface	14 1/4"	10 3/4"	32.75#	277	60/40 poz	220	2% G,	3% CC
Surface	7 7/8"	5 1/2"	14#	4975	60/40 poz	200	latex	
Production								
		ADDITIO	NAL CEMENTI	NG / SQUEEZE RECO	RD			
Purpose:	Depth Top Bottom	Type of Cement	#Sacks	#Sacks Used Type and Percent Additive:		es		
Perforate Protect Casing Plug Back TD Plug Off Zone	Top Bottom							
Shots Per Foot	PERFORA Specify	TION RECORD - Bridge y Footage of Each Interval	Plugs Set/Type Perforated	Acid,	Fracture, Shot, Ceme (Amount and Kind of		ord	Depth
2 spf	4800-4830			Acid 200	0 gal, 10% MC <i>A</i>	& frac 181,	700# sd	4800-30
TUBING RECORD:	Size: 7/8	Set At: 4897	Packer A	ut: Liner Run:	Yes 🚺	No		
Date of First, Resumed	d Production, SWD or E	Enhr. Producing		✓ Flowing □ Pu	mping [] Gas	Lift 🗌 O	ther (Explair	1)
Estimated Production Per 24 Hours	Oil 62	Bbls. Gas	Mcf 50	Water 175	Bbls.	Gas-Oil Ratio		Gravity 21
DISPOSIT	ION OF GAS:		METHOD Q	r completion;		PRODUC	TION INTER	RVAL:
Usented Value of Sol		e Open Hole	Pear.	Dually Comp.	Commingled			
, , , , , , , , , , , , , , , , , , , ,		KCC - Conservation [	Division 30 S	Market Room 27	8, Wichita, Kansa	s 67202		



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

## INVOICE

Invoice Number: 120990

Invoice Date: Dec 15, 2009

Page:

1

MULULLY

DEC 2 4 Zuus

Customer ID	Well Name# or Customer P.O.	Paymen	t Terms
Lotus	C R Wetz #3	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Medicine Lodge	Dec 15, 2009	1/14/10

		· · · · · · · · · · · · · · · · · · ·		
Quantity	Item	Description	Unit Price	Amount
132.00	MAT	Class A Common	15.45	2,039.40
88.00	MAT	Pozmix	8.00	704.00
4.00	MAT .	Gel	20.80	<b>•</b> 83.20
7.00	MAT .	Chloride	58.20	407.40
220.00	SER	Handling	2.40	528.00
15.00	SER	Mileage 220 sx @ 10 per sk per mi	22.00	330.00
	SER	Surface	1,018.00	1,018.00
15.00	SER	Pump Truck Mileage	7.00	105.00
		GL# 9208		DECENTED.
		Casing #3 CR		RECEIVED CORPORATION COMMISSION  JUN 0 1 2010
		WELL# CR witz	CON	SERVATION DIVISION WICHITA, KS
ALL PRICES AS	RE NET, PAYABLE	Subtotal		5,215.00
	OWING DATE OF			203.74
	1/2% CHARGED	Total Invoice Amount		5,418.74

THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF ',

ONLY IF PAID ON OR BEFORE Jan 9, 2010

Payment/Credit Applied TOTAL 5,418.74

## ALLIED CEMENTING CO., LLC. 036947

RUSSELL, KANSAS 67665

#### SERVICE POINT:

Medicine Lodseks

						•
DATE 12-15-09 36 34 R.	ANGE 12	CALLED OUT	ON LOCAT	TION JOI	START	JOB FINISH 2100 pm
				Co	IINTY	STATE
	OCATION III &	dicin Lodge,	123 163	FO 13	STHON	105
OED OR (NEW (Circle offe)	(GHIFSHERP	Rs, 1 w, 1/2 5	E92/12	1 10		
CONTRACTOR DUKE #2		OWNER Z	otus	130000	وم ما الحال	
TYPE OF JOB SURFACE		<u> </u>	<u> </u>	2/24/4	TIN9	
HOLE SIZE 143/4 T.D. 2	278	CEMENT				
	H 277'	AMOUNT O	RDERED 🍃	20sv	6014	1012+39
TUBING SIZE DEPTH	Н					
DRILL PIPE DEPTH	Н					
TOOL DEPTH	Н	:			· · · · · · · · · · · · · · · · · · ·	
PRES. MAX MINIM	4UM	COMMON_	Class A	132 @	15,45	2039.40
MEAS. LINE SHOE	JOINT	POZMIX _				704,00
CEMENT LEFT IN CSG. 201		GEL		- •	20.80	83,70
PERFS.		CHLORIDE				407.40
DISPLACEMENT 25/26615 Of	freshware	ASC				
EQUIPMENT		•		@		_
					ANSAS CORPO	CEIVED RATION COMMISSION
PUMPTRUCK CEMENTER Dari	<u>. r.</u>			@		•
#471-302 HELPER MORK C.	<i>n</i> /-,			@	JUN	<b>0 1</b> 2010
BULK TRUCK	·			@		
# 353 - 290 DRIVER Ron 6	1			. @	CONSERVA	ATION DIVISION HITA, KS
BULK TRUCK				@		лн <del>и, кэ</del>
# DRIVER		<u> </u>		@		
" DRIVER	· · · · · · · · · · · · · · · · · · ·	— HANDLING	` 7	ZO @	2,40	528,00
		MILEAGE _		20/15	1.10	330,00
REMARKS:					TOTAL	4092,00
Pipe on bottom & breg	W Charles				TOTAL	10/2/00
Pump 3 bbls fresh woken gi	hech mil	<u> </u>	CI	ensueur		
220 SV Of Comment Stori D.	SOICE	· ·	SI	ERVICE	. '	•
Dump 25 1/2 bbls and Shut 11	n Cemen	DEDTH OF I	ов 277	, ,	:	
did Circulate					£ 45 1	8 57
		EXTRA FOO	CK CHARGE			0,00
		MILEAGE	AAGE	<u> </u>	7.00	105,00
		MANIFOLD		<u>/ @</u>	1,00	100100
	4. 🗸	MANIFULD	2-10-110		·	
A second		:	ordsed us	<u>. 177 @</u>		
CHARGE TO: LOJUS Opersti	a)			@.	<u> </u>	
CHARGE IO: DOGOS COMORGA	n <i>g</i>					
STREET					TOTAL	1123,00
•		-			and the second	
CITYSTATE	ZIP	<del></del>	Diffice o est	O 177 170		
			PLUG & FI	LUALEQ	UIPMEN	T
			~			
•			W-11	@		-
			ne			
To Allied Cementing Co., LLC.	•		) // _	@		
You are hereby requested to rent cement	ting equipmen	1		@_		
and furnish cementer and helper(s) to as	sist owner or	· ·		@		
contractor to do work as is listed. The a	bove work wa	ıc	•			1
done to satisfaction and supervision of o	)Wher agent or				TOTAL	
contractor. I have read and understand t	he "GENED A	Ī		•	LOIAL	
TERMS AND CONDITIONS" listed on	the reverse st	de. SALES TAX	(If Anv)_		,	
isled Oil	the reverse \$10			52000		_
1		TOTAL CHA	RGES_	Cass		
PRINTED NAME XJOHN J. ARMA	BRUSTER	DISCOUNT			IE DA IF	DIN 30 DAYS
	•	2.3000111	AR DO	<b>3</b>	- 11 FAIL	E IN SU DAYS
SIGNATURE X John amb	eruster			<u> </u>		,
7						



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

### INVOICE

Invoice Number: 121042

Invoice Date: Dec 22, 2009

Page: 1

RECEIVED

DEC 3 1 2009

Customer ID	Well Name# or Customer P.O.	Paymen	t Terms	
Lotus	CR Wetz #3	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-02	Medicine Lodge	Dec 22, 2009	1/21/10	

Quantity	Item	Description	Unit Price	Amount
129.00	MAT	Class A Common	15.45	1,993.05
86.00	MAT	Pozmix	8.00	688.00
8.00	MAT	Gel	20.80	166.40
100.00	MAT	FL-5P	16.90	1,690.00
215.00	SER	Handling	2.40	516.00
15.00	SER	Mileage 215 sx @.10 per sk per mi	21.50	322.50
1.00	SER	Production Casing	2,011.00	2,011.00
15.00	SER	Pump Truck Mileage	7.00	105.00
1.00	EQP	Guide Shoe	100.80	100.80
1.00	EQP	AFU Insert	112.00	112.00
1.00	EQP	Basket	161.00	161.00
5.00	EQP	Centralizers	32.20	161.00
1.00	EQP	Rubber Plug	74.00	74.00
ENTERE DEC 3 1 20			RECEIVI KANSAS CORPORATIO JUN 0 1 CONSERVATIO WICHIT	2010 DN DIVISION

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2025 19

ONLY IF PAID ON OR BEFORE
Jan 16, 2010

Subtotal	8,100.75
Sales Tax	324.21
Total Invoice Amount	8,424.96
Payment/Credit Applied	
TOTAL	8,424.96

- 2025,19

6399.77

### LOTUS OPERATING CO., LLC

100 S. Main, Ste 420 Wichita, Kansas 67202 (316) 262-1077 Fax (316) 219-1217

May 10, 2010

Kansas Corporation Commission 130 S. Market, Rm 2078 Wichita, Kansas 67202

RE: #3 CR Wetz API # 15-007-23469 36-34s-12w Barber Co, KS

Dear KCC,

I request that the information on the #3 CR Wetz ACO-1 be held confidential for one year as per the KCC rules and regulations 82-3-107.

If you have any questions, please feel free to call.

Yours truly,

Tim Hellman

Lotus Operating Company, L.L.C.

RECEIVED KANSAS CORPORATION COMMISSION

JUN 0 1 2010

CONSERVATION DIVISION WICHITA, KS

# ALLIEC CEMENTING CJ., LLC. 036952

<b>REMIT TO</b>	P.O. BOX 31
	RUSSELL, KANSAS 67665

	,					Medic.	ine to see ks
DATE 12-22-08	SEC. 36	TWP.	RANGE 12 W	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
LEASE CR West	WELL#	3	LOCATION Mes.	in Losso ks	16 Sourn	COUNTY Berler	STATE /CS
OLD OR NEW (Cir	rcle one)			- RZ, 1 w, 425			
	<u> </u>				•		
CONTRACTOR TYPE OF IOR O	JUKA	#2		OWNER Zo	tus Opera	ting	
TYPE OF JOB DA	PARCA	T D	49751	 CEMENT			
CASING SIZE 5			TH 49691		DERED 11C	60140	· •
TUBING SIZE		DEP		_ 100sx 6	RDERED <u>115s</u> 0:40:2+	F1-5P	<u> </u>
DRILL PIPE		DEP			. 10.	. , , , ,	
TOOL		DEP	TH		^		0.4
PRES. MAX			IMUM	_ COMMON	A 129 5x	<u>( @ 15- 45</u>	1993.05
MEAS. LINE		SHO	E JOINT 40	_ POZMIX	86 sx	@ 3 <sup>2,00</sup>	688==
CEMENT LEFT IN	CSG.			_ GEL	8 3X		166 40
PERFS.		1 1		_ CHLORIDE _		@	-
DISPLACEMENT			Lrash Liker	_ ASC	100	@	WC0 50
	EQU	JIPMENT		+1-5P	100-	_@ <i>16.90</i>	1690 =
					RECEIVED	@	
_		ER Danc	•		KANSAS CORPORATION C	(a)	
#360-265 H	<u>HELPER</u>	Scott	<u>P</u>	_	JUN <b>0 1</b> 20		
BULK TRUCK				***			
	DRIVER	MSHL T	)		CONSERVATION (	<del>DIVISION</del> KS. @	
BULK TRUCK # [	DIVED				***************************************	@	
# L	DRIVER		y-818-044- <u>808-84-</u>	<ul><li>HANDLING_</li></ul>	215	@2.40	516 00
				MILEAGE	215/15/-10	· · · · · · · · · · · · · · · · · ·	322 3º
	RE	MARKS:			/ /	TOTAL	5375,95
Pipe on born	ion dl	YOSK CI	rculstion	_			*
My 1554 OF	Comens	FOY REL	Emouse holes	<del>_</del>	SERVI	<b>ICE</b>	
mix 100 sx c	of less	coment,	mry 1005,	_			
Ofte: 1 Gmans	Shull	aum. Wes	h Dumading	_ DEPTH OF JC	DB <u>49691</u>		
Reless Plug, S	icri di	Spkirme	na, Lift	_ PUMPTRUCE		2011	
PLESSON ET 12	Obis,	SIOU RCI	e to SOPM SA			_ @	
		108+ 913	123 bbls	_ MILEAGE	15 Em	_@ <u>7,00</u>	10500
1000-1300 p	<u> </u>	03+ 616	NO 18	– MANIFOLD 🛭		_@	
				<i>He</i>	sa rents1		
CHARGE TO LA		•		<del></del>	-	_ @	
CHARGE TO: Lo	NOS C	15-CEQUE	5	_			2/1/ 00
STREET	<del></del>			_		TOTAL	2116
CITY	CT.	ATE	ZIP				
C11 1	31/	AIL		_ · j	PLUG & FLOAT	Γ EQUIPMEN	T
				5 1/2		-	
		••		1-60,205	har	@	m 50
				1-BFUI	nser +	_ @	//2
To Allied Cementi	ng Co., I	LC.		1- Baskers		@ 161 00	161 =
You are hereby req			enting equipment	5- Controli		_@ <i>_32<sup>26</sup></i>	161 00
and furnish cemen				1-Rubber	Nug		74 -
contractor to do we				/	/		, <del>s-</del> 0
done to satisfaction						TOTAL	608 80
contractor. I have							
TERMS AND CO				SALES TAX (I	f Any)		
	$\bigcirc$			TOTAL CHAR	GES D		
DOLLITED MAN	الملا	"; K	\ <del>~</del> \ ^=		A STORY		
PRINTED NAME_	1450	אות ל	)LOMV	_ DISCOUNT _	600 D	IF PAII	O IN 30 DAYS
		2	$\supset$	4			